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LIWI1:
URIYS T u = 0m/s
nm,ﬂf%in%n: vm/s

e gt = 2fAe = 2x 60 =120 s
0 = 0.1 m/s?

(a) T & Ugel THIBRUT 9,

v=u+at
=2v=0+01x120=12m/s
3{d:, UT &1 718 =1 12 m/s B
(b) Tl & IR THIHT 9,
ﬂﬁﬁﬂégﬁ,s = ut+%at2

1
~_—>s=0><120+5x0.1x(120)2

=>s=720m

3[ct:, T B T8 G720 m &
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PIg YAMSI 90 km h~! & AT T I I8! 81 NP T S W T8 —0.5 m s~2 P THYAM @0
I Bl B YS! faRmraRyr 7 M & Ugd fohait gt g B

g3 2:

URMYE AT u = 90 km h~1 = 2220 = 25 /s
60%60
feH AT v = 0my/s

0 aq = —0.5m/s?
i & iR g 9,

v? =u? + 2as
= 0% =(25)?%+2x(-05)xs
=>s5=625m

3{d:, YS! FaRTHTGRIT H 3119 & Ugd 625 m P g3l 9 Hl|
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URIYS T u = 0m/s
W,ﬂﬁqaﬂ: vm/s
g g =35
R0 = 2m/s?

el & Ugel FHIBRUT ¥,
v=u+at

=>v=0+2x3=6m/s

3{:, T URY B & 3 s & UYTd SUDI A7 6 m/s BT
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T IR PR BT THTHH @R 4 m s~2 § | T URY B & 10 s YT I8 oot gt g et
.3 4:

URIYS T u = 0m/s

formmarg gt = 10s

R = 4m/s?

T & O FHIHRO T,

ﬁﬂﬁﬂg@,s = ut+%at2
1

=>s=0><10+§x4x(10)2

=>s=200m

3{c:, i URYH B & 10 s UHT I8 200 m P g3 9 Bl |
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fr el TR B FH@EMR FWR BT 3R 5m s~ F A7 Y BT Il 5 e T F ERE TR HT F
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URIYS T u = 5m/s
mfatgq'{ﬁf?manv =0m/s
W0 a= —10m/s?
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v? =u? + 2ah

=202=(5?2?+2x(-10)xh

25
>h=—=1.25m
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A & Ugd IHieR0 9,
v=u-++at

0=5+(-10)x ¢

t=—=205
= 10 s

31T, TR & GRT 1.25 m ®1 SdTs U B Ts dUT I 981 Ugd § 0.5 s BT T80T @
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